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(Application Oriented Course) 

APM-01 : INTEGRATED PEST MANAGEMENT 

Time : 3 Hours     Maximum Marks : 100 

Note : Question No. 1 is compulsory. Attempt any 

eight questions from Question Nos. 2 to 10.  

1. (a) Define the following terms : 1 each 

(i) Hybrid sterility 

(ii) Aesthetic pests 

(iii) Pest spectrum 

(iv) Median lethal dose (LD50) 

(v) Antixenosis 
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(b) Expand the following abbreviations : 1 each 

(i) SIRM 

(ii) NPV 

(iii) ET 

(iv) IFTK 

(v) FFS 

(c) Give the term used for each of the 

following : 1 each 

(i) Condition in which maggots of flies are 
present in living bodies of human and 
other animals. 

(ii) Inherent capacity of an organism to 
reproduce, survive and multiply. 

(iii) Chemicals that deliver behavioural 
messages in insects. 

(iv) Pesticides that kill mites and ticks. 

(v) Most widely used microbial pesticide. 

(d) Match the terms given in Column A with 
those of Column B : 1 each 

Column A Column B 

(i) Aedes (1) Thysanura 

(ii) Pink Bollworm (2) Tebufenozide 
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(iii) Biting and 
chewing 
mouthparts 

(3) Dengue fever 

(iv) Ametabolous 
Development 

(4) Pectinophora 
gossypiella 

(v) Moulting 
Hormone 
Agonist 

(5) Grasshopper 

2. Differentiate between the following pairs of  
terms :   2×5=10 

(a) Economic injury level and Economic 
threshold level 

(b) Holometabolous and Hemimetabolous 
development 

(c) Organophosphates and Carbamates 
(d) Allomone and Kairomone 
(e) Primary succession and Secondary 

succession 

3.  Write short notes on any two of the following : 
2×5=10 

(a) Botanical Pesticides 
(b) Insect Growth Regulators (IGRs) 
(c) Pesticide formulations 

4. (a) Describe the structural perfections which 
make insects successful as pests. 5 



 [ 4 ] APM–01 

B–1401/APM–01   

(b) What is Pesticide Resistance ? Discuss the 

chemical strategies for resistance 
management. 5 

5. (a) Discuss the various cultural practices to 
control pests. 5 

(b) What is Sterile Insect Technique (SIT) ? 
Discuss how it is used in pest 
management. 5 

6. (a) What is Agroecosystem ? In what respects 
is it different from Natural Ecosystem ? 5 

(b) Discuss the different pest suppression 
tactics used in IPM. 5 

7. Give the scientific names, description of adult 
and nature of damage caused by the following 
pests :   5 each 

(a) Maize stem borer 

(b) Red cotton bug 

8. (a) What is IPM Forum ? Discuss its main 

objectives. 5 

(b) How does IPM forum strengthen the 
capacity of NGOs to help poor farmers ?  5 
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9. (a) Discuss, how information technology and 

communication technology developments 
can influence future of IPM. 5 

(b) Describe the main points to be considered 
for proper implementation of IPM 

programme. 5 

10. (a) Compare and contrast the different 
features of pesticide technology and IPM. 5 

(b) How do insects with different mouthparts 
damage the crops directly ? 5 
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      APM–01 

Lukrd mikf/ dk;ZØe (ch-Mh-ih-)  

l=kkar ijh{kk 

fnlEcj] 2024 

(O;ogkjewyd ikB~;Øe) 

,-ih-,e--01 % lekdfyr ihM+d izca/u 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % iz'u la[;k 1 vfuok;Z gSA iz'u la[;k 2 ls 10 

rd fdUgha vkB iz'uksa ds mÙkj nhft,A 

1- (d)  fuEufyf[kr inksa dks ifjHkkf"kr dhft, %  

      izR;sd 1 

 (i)   ladj caè;rk 

 (ii)   #fprk@,LFksfVd ihM+d 

 (iii)  ihM+d LisDVªe 

 (iv)  ekè;fed izk.k?kkrd ek=kk (LD50) 

 (v)   izfrijxzkfgrk@,UVhthuksfll 
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([k)  fuEufyf[kr laf{kIr ukeksa dks foLrkfjr dhft, %  

     izR;sd 1 

 (i)   ,l- vkbZ- vkj- ,e- (SIRM) 

 (ii)   ,u- ih- oh- (NPV) 

 (iii)  bZ- Vh- (ET) 

 (iv)  vkbZ- ,iQ- Vh- ds- (IFTK) 

 (v)   ,iQ- ,iQ- ,l- (FFS) 

(x)  fuEufyf[kr esa ls izR;sd ds fy, mi;ksx fd, 

tkus okys in dk uke crkb, % izR;sd 1 

 (i)   og fLFkfr ftlesa efD[k;ksa ds eSxV 

euq";ksa vkSj vU; tUrqvksa ds 'kjhj esa ik, 

tkrs gSaA 

 (ii)   fdlh tho dh tuu djus] thfor jgus 

vkSj xq.ku djus dh uSlfxZd {kerkA 

 (iii)  ,sls jlk;u tks dhVksa esa O;ogkjxr lans'k 

igq¡pkrs gSaA 

 (iv)  ihM+duk'kh tks c:Fkh vkSj fdyfu;ksa dks 

ekj nsrs gSaA 
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 (v)   lcls O;kid :i ls mi;ksx fd;k tkus 

okyk lw{ethoh; ihM+duk'khA 

(?k) dkWye A esa fn, x, inksa dk dkWye B esa fn, 

x, inksa ls feyku dhft, % izR;sd 1 

dkWye A dkWye B 

(i) ,Mht (1) FkkblsU;wjk 

(ii) fiad ckWyd`fe (2) VscwiQksukstkbM 

(iii) drZu (dkVus) vkSj 

poZ.k (pckus) okys 

eq[kkax 

(3) Msaxw Toj 

(iv) ,ehVkscksyl@vYi 

dk;karj.kh ifjo/Zu 

(4) isDVhuksiQksjk 

xkslhfi,yk 

(v) fueksZpu gkWeksZu 

,sxksfuLV 

(5) xzklgkWij@fVM~Mk 

2- fuEufyf[kr inksa ds tksM+ksa ds chp vUrj fyf[k, % 

5×2=10 
(d) vkfFkZd {kfr Lrj vkSj vkfFkZd vkjEHku lhek 
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([k) vYidk;karj.kh ifjo/Zu vkSj iw.kZdk;karj.kh 

ifjo/Zu 

(x) vkWxsZuksiQkWLiQsV vkSj dkckZesV 

(?k) ,sykseksu vkSj dSjkseksu 

(Ä) izkFkfed vuqØe.k vkSj f}rh;d vuqØe.k 

3- fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ 

fyf[k, %   2×5=10 

(d) okuLifrd ihM+duk'kh 

([k) dhV o`f¼ fu;a=kd (vkbZ- th- vkj-) 

(x) ihM+duk'kh lw=khdj.k 

4- (d)  mu lajpukRed ifjiw.kZrkvksa dk o.kZu dhft, 

tks dhVksa dks liQy ihM+d cukrh gSaA 5 

([k)  ihM+duk'kh izfrjks/ D;k gksrk gS \ izfrjks/ 

izca/u dh jklk;fud j.kuhfr;ksa dh foospuk 

dhft,A 5 

5- (d)  ihM+dksa dks fu;af=kr djus dh fofHkUu O;ogkjijd 

fof/;ksa dk o.kZu dhft,A 5 
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([k)  caè; dhV rduhd (,l- vkbZ- Vh-) D;k gksrh 

gS \ ihM+d izca/u esa bldk fdl izdkj 

mi;ksx fd;k tkrk gS] bldh foospuk dhft,A 

5 

6- (d)  d`f"k&ikfjra=k D;k gS \ ;g fdl lUnHkZ esa 

izkd`frd ikfjra=k ls fHkUu gksrk gS \ 5 

([k)  vkbZ- ih- ,e- esa mi;ksx dh tkus okyh fofHkUu 

ihM+d neu dh ;qfDr;ksa (rjhdksa) dh foospuk 

dhft,A 5 

7- fuEufyf[kr ihM+dksa ds oSKkfud uke] o;Ld dk 

fooj.k vkSj muds }kjk gksus okyh {kfr ds fo"k; esa 

fyf[k, %   izR;sd 5 

(d)  eDdk ruk Nsnd@est LVse cksjj 

([k)  jsM dkWVu cx 

8- (d)  vkbZ- ih- ,e- iQksje@eap D;k gS \ blds eq[; 

mís';ksa ds fo"k; esa fyf[k,A 5 

([k)  vkbZ- ih- ,e- iQksje@eap fdl izdkj ,u- th- vks- 

(xSj&ljdkjh laxBuksa) dh {kerk dks c<+kdj 

xjhc fdlkuksa dh lgk;rk djrk gS \ 5 
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9- (d)  lwpuk izkS|ksfxdh (vkbZ- Vh-) vkSj lapkj 

izkS|ksfxdh (lh- Vh-) ds fodkl vkbZ- ih- ,e- 

ds Hkfo"; dks izHkkfor dj ldrs gSa] bldh 

foospuk dhft,A 5 

([k)  vkbZ- ih- ,e- dk;ZØeksa ds mfpr fØ;kUo;u ds 

fy, fopkj fd, tkus okys eq[; eqn~nksa dk 

o.kZu dhft,A 5 

 10-(d) ihM+duk'kh izkS|ksfxdh vkSj vkbZ- ih- ,e- dh 

fofHkUu fo'ks"krkvksa ds chp rqyuk dhft, vkSj 

fojks/kHkklh fo'ks"krkvksa dks fyf[k,A 5 

([k)  fofHkUu izdkj ds eq[kkaxksa okys dhV fdl izdkj 

iQlyksa dks izR;{k :i ls {kfr igq¡pkrs gSa \ 5 
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